F)

-

=/

The table of tightening moments for screws / Tabelle fiir die Auswahl des Anzugsmoments der Befestigungsschrauben/

Tableau des couples de serrage / Tabela doboru momentu dokr¢cania Srub mocujacych

Screw size / Schraube / ance class / Festigke / Tightening moments / Anzugsmoment /
Diameétre de vis / Rozmiar $ruby Classe de / Klasa wytrzy Couple de serrage / M
) W10 8.8 46 Nm
M12 8.8/10.9412,9* 79 Nm /115 Nm/ 137Nm
M14 10.9* 180 Nm

“Use for fitting tho ball couplings of permissible maximum mass of a trailer above 1500kg (o 2999k

**Use for fitting the ball couplings of permissible maximum mass of a trailer above 3000kg.

* Uzyé do montazu glowic ziczepol

* Far die Montage der Zugkugelkupplungen fir Anhanger mit einer zuléssigen Gesamtmasse tiber 1500kg bis 2999kg.
*Los utiliser pour lo montage des dispositifs dattelage pour un poids total en charge dépassant 1500kg a 2999kg
* Uzyé do montazu glowic zaczepowych o dopuszczalne] masie catkowite] przyczepy powyzej 1500 ky do 2999kg.

** Fiir die Montage der Zugkugelkupplungen fiir Anhanger mit einer zulassigen Gesamtmasse iiber 3000kg.
“* Les utiliser pour le montage des dlsposmk d'attelage pour un poids total en charge dépassant 3000kg.
masie catkowitej przyczepy powyze] 3000kg.

ENGLISH ASSEMBLING, OPERATING AND MAINTENANCE INSTRUCTION OF COUPLING HEADS ZSK AND BC TYPE

1. INTRODUCTION

Coupling heads are made in accordance with the Dir
R85. Coupling heads are of great importance for road safety, therefore numerous tests have been
carried out to confirm their reliability. Nevertheless, 1o ensure their reliability it is essential thal
coupling heads are properly assembled, operated and maintained. Therefore, please read this
instruction very carefully and follow all the directions

ive 94/20/EWG and the Regulations ECL

2. RANGE OF APPLICATION

Coupling heads can be used only with those trailers whero the required parameters marked on tho
traller casing have not been exceeded. All coupling heads aro to be coupled with A class tow-hook
balls (50 mm in diameter) that are made in accordance with the Directive 94/20/EWG and the
Regulations ECE-RS5.

Ranges of rotation -~ see fig. A.

3. ASSEMBLING INSTRUCTION

A coupling head should be fastened so that the coupling point of the trailer (with horizontal
positioning of the bodywork, the maximum permissible ,Pmax” axle load and properly placed load)
does not exceed the permissible S value (vertical thrust), engraved on the body of the coupling
head, and is 430 =35 mm above the surface of the tyre adhesion to the ground — see fig. B. All
deviations must be taken into consideration when approving the trailer construction. Coupling heads
(depending on a design) may be fastencd onto pipe shafts (round or square), V-shaped shafts and
inertia brake couplings

3.1. ASSEMBLING TO A PIPE SHAFT (ROUND OR SQUARE)

The casing of the coupling head should be placed on the shaft, properly positioned 1o the holes and
screwed down with 2 bolts, 2 self-retaining nuts, 4 washers and 2 distancing jointing slceves — see
fig. C. When there are three vertical fastening holes, only two are to be used i.e. the front fastening
hole and one of the rear ones

3.2. ASSEMBLING TO A V-SHAPED SHAFT

The recommended way of fastening the coupling heads of ZSK-750K and BC-8001. lype 1o a V-
shaped shaft with steel sections that are up to 24 mm wide and up to 60 mm high with he use of &
connector, horizontally placed 4 fastening screws M12x35 (ISO 4017), 4 self-retaining nuts M12
(IS0 7040), and 8 washers 12,5 mm inside diameter (SO 7090), is shown in detail in - see fig. D,
The other method of fastening the coupling heads of ZSK-750K and BC-800L typc 1o a V-shaped
shaft with steel sections that are up to 30 mm wide and over 60 mm high with the use of a
connector, 2 vertically placed fastening scrows M12 x 35 (ISO 4017), z self-retaining nuts M12 (SO
7040) and 4 washers 12,5 mm inside diameter (ISO 7090) - see fig.

Itis obligatory to check if all the bolts are screwed down properly aher 1,000 kilometers

4. USER’S MANUAL

in order to couple and uncouple the trailer safely one should:

Make sure that there is a vacant space round the ball of the hook to exclude possiblo
collisions with the spare wheel, frame and other bodywork elements.

The trailer should be loaded properly, without excieding the permissible total weight “Pmax”,
s0 that the thrust on the coupling ball does not oxceed the “S” value (marked on the body of
the coupling head) - see fig. B.

To make sure that the coupling head is properly fixed it is important to check the position of
the indicator and the clearance between the coupling head and the ball of the hook ~ see fig
F.

tart oceming
i sh

If the coupling between the ball and the coupling head slackens e.g clatte
during driving, it means that either the ball or fh: coupling head is used up

replaced at once. The diameter of the ball should bo at least 49 mm. If tho value is smallor it
indicates that the coupling ball is used up.

= It a coupling head .1..;”|m.m damaged or deformed in an accidont o because of overtond, i
should instantly bo 1

« Being of groal |||1|mt|.|nu for 1oad safety, coupling heads should not b altered in any wiy

5. OPERATING INSTRUCTIONS OF BC AND ZSK TYPE COUPLING HEADS

«  In order to open the coupling hoad, push Ihe salely bolt 1" with the index finger upward and
tum the coupling handio "D" forward - see fi

The coupling head is openod when the indicator s n tho OPEN position - see fig. F.

In order to couple a coupling head, place the opened coupling hoad on the ball and push the

coupling handio “D* downward — see fig. H, until the bolt “R” clicks oulside.
« The coupling head is coupled properly if the safety bolt “R* clicks: cutside and the indicator is
in position ©== - see fig. F.
o Il the indicalor is in position @ — see fig. F, it means thal citlher the coupling head is fixed

incorrectly or that the parts of the coupling head or the ball aie worn and should be replaced
immediatoly.

6. MAINTENANCE

Proper will provide easy
ensure that all joints and bearings should be Iubllcaled - see.fig.
be cleaned and lubricated regularly.

d proper functioning of a coupling head. To
and th lolding clamp should

STEELPRESS Sp. z 0.0. ul. Powstaricéw Wikp. 48, PL 62-031 Lubori — Poznan,

tel. +48 61 899 43 83, fax +48 61 810 43 53, e-mail: sal

teelpre:

.eu  Www. .eu

pre:




DEUTSCH ANLEITUNG FUR DIE MONTAGE, BEDIENUNG UND WARTUNG DER ZUGKUGELKUPPLUNGEN TYP ZSK UND BC

1. EINLEITENDE INFORMATION
Die Zugkugelkupplungen sind gemas der Richtiinie 94/20/EG des Européischen Parlaments und des
Europarates sowie der Vorschrift Nr. 55 der der O der

dero. g. auf der mit Profilen mit einer Broilo
bis zu 30 mm und einer Hohe Gber 60 mm mit 2 horizontat

mit
M12x35 (ISO 4017), S!cherungsmmem M12 (ISO 7040) und Scheiben

Vereinigten Nationen hergestellt. Die sind die eine

Bedeutung firr die Verkehrsicherheit haben und ifre Zuverlassigkeit wurde durch zahlreiche Versuche
Jedoch ist die der auch von der ordnungsgemafen

Montage sowie der richtigen Bedienung und dem richtigen Betrieb abhangig. Aus diesem Grund bitten wir

Sie diese Anleitung aufmerksam zu lesen, sowie die hier enthaltenen Hinweise zu beachten

2. ANWENDUNGSBEREICH

Die Zugkugelkupplungen kénnen nur fir Anhanger verwendet werden, deren erforderliche und auf dem
Gehéiuse der  Zugkugelkupplung  eingepragte  Parameter nicht Gberschrilten wurden.  Die
Zugkugelkupplungen kénnen nur mit Kupplungskugeln der Klasse A (mit einem Durchmesser von 50 mm)
gema der Richtiinie 94/20/EG des Parl sowie der Vorschrift Nr.
55 der r O der igten Nationen gekuppelt werden.
Die Schwenkbereiche der Zugkugelkupplung — Abb A

3. MONTAGEANLEITUNG
Die Zugkugelkupplungen sind so zu montieren, dass sich der Kupplungspunkt des Anhangers bei
horizontaler Stellung des Aufbaus und max\ma\er Belastung Pmax des Anhangers sowie richiiger
Anordnung des Ladeguts nicht den s ( und sich 430 mm = 35
mm dber der horizontalen Radau(slandsebene befindet - Abb. B. Abweichungen mssen bei der
des werden. Die konnen je nach
auf (V-formig) sowie auf

auf ohren (rund bzw.
Auﬂaulemrlchlungen befestigt werden
3.1. MONTAGE AUF DEM ANHANGERZUGROHR (RUND BZW. RECHTECKIG):
Das Gehéuse der Zugkugelkupplung auf das Zugrohr auflegen, entsprechend den Bohrungen ausrichten
und mittels je 2 Schrauben, Sicherungsmuttern, Scheiben und Distanzbuchsen befesligen - Abb. C. Bei drei
vertikalen sind nur zwei davon zu benutzen — die vordere und eine der

hinterer
3.2, MONTAGE AUF DER ANHANGERZUGGABEL
ZSK-750K sowie BC-800L auf der

12,5 mm (1SO 7090) — Abb. E.

mit
Nach 1.000 km sind alle

4. BETRIEBSANWEISUNG

U den Anhinger sicher zu kuppeln und abzukuppeln ist:

Der Freiraum um die Kupplungskugel sowie die moglichen Behinderungen Fall der Verformung durch Rosorver:ul
Rahmen oder Aufbauelemente zu beachten.

Der Anhanger gleichmaBig, ohne Uberschreitung der zulissigen Belastung Pmax so zu beladen, dass der Diuck ant
de Kuppmngskugel den zulassigen Wert S (eingepragt auf dem Karper der Zugkugelkupplung), nicht dberschueilet

. Zw(‘r,kg Priiung der sicheren Befesligung dr Zugkurlkupplung istin jedem Fall die Lage des Anzeigers sowio
Spiel zwischen der Kupplung und der Kupplungskugel zu priifen

Wenn zwischen der Kupplungskugel und der Zugkuqulkummmg ein pre] erscheint, was sich beim Betrieb z. B. durch

Klupvcu bemerkbar macm dann ist die und sofort gegen cine
. Der minimale dm betragt 49 mm. Ist der Durchmesser Kleiner,

Soitdie Kupplungskugel verschlissen.

o Bei baw. der

gegen cine neue auszuwechsein

Die Zugkugelkupplungen sind Baugruppen, die eine groe Bedeutung fiir die StraBenverkehrssicherheit haben, also

sind jegliche Anderungen an den Zugkugelkupplungen unzulssig.

verursacht durch Unfall bzw. Uberlastung, ist diese

5. EITUNG DER KUPPLUNG TYP BC UND ZSK

«  Zum Offnen der Zugkugolkupplung ist mit dem Zeigefinger dio Kiinke (Riegel) R nach obon zu driickan und dur | ebil D
nach vorne zu ziehen -

Die Zugkugetkupplung ist qcolhw\‘ wenn der Pleil de
« Zum SchiieBen ist die gedfinete Zugkugelkupphung
Abb. H zu driicken, bis die Klinke R nach auBen springt

Die Zugkugelkupplung ;51 nchug gekuppelt wenn dic Klinke R nach aufion gesprungen ist und der Anzeiger sich im

- Feld befindet —
Wenn der Anzeiger slch im ds Feld - Abb. F befindet, 5o beuem-»l .

bols ¥ sich in Stellung OPEN befindel ~ Abb. F
die Kupplungskugel zu legen und der Hebel D nach unton

.
Anhangerzuggabe‘ mit Prohlen rml iner Brelta bis zu 24 mm und einer Hhe bis 60 mm mit

it 4 horizontal Mi2x35 (1SO 4017),
Slcherungsmullem M2 (|so 7040) ind Schotben mi Bohrungsdurchmesser 12,5 mm (ISO 7090) — Abb.

FRANCAIS

1. INFORMATION GENERALE

die Kupplung nicht richtig gekuppelt ist
oder die 2w, die sind.

6. WARTUNGSANLEITUNG
Dic einfache Bedienung und die elnwandireie Funktion sind im Fall der sichtigen W,
dic Gelenke sowie die Lagerstellen, zu len — Abb. G. Das Kiemmstick st rogolmilti

qosichert. Zu diesem Zweck sind
1 roinigen und einzufetten.

NOTICE DU MONTAGE ET DE L’UTILISATION DES DISPOSITIFS D’ATTELAGE A BOULE TYPE ZSK ET BC

1l est obligatoire de vérifier I'étanchéité de tous les boulons de I temorque aprés 1000 km parcouros

Les dispositifs d'attelage & boule sont faits d’aprés la directive 94/20/ CE du Parlement Européen, Conseil Europien
ot aussi daprés le Reglement n 55 de la Comission Economique des Nations Unies pour 'Europe (CEE — ONU)
Les dispositifs dattelage & boule jouent un réle important pour la sécurité routiére. La fiabilité de nos dispositifs a 61¢
démontrée dans de nombreux essais. Leur fiabilic dépend fortement aussi du bon montage ainsi que d'une
utilisation correcte. Afin de vous apporter une meilleure satisfaction pour nos articles nous vous recommandorts de
bien lire la présente notice de montage et d'utilisation et suivre nos conseils.

2. APPLICATION
Nos dispositifs d'attelage & boule ne peuvent élre montés que sur les remorques dont les caractéristiques sont
conformes a celles qui figurent sur e boitier du dispositi. Les dispositifs d'attelage & boule ne peuvent éire utilisis
quavec les tétes de crochets de remorquage de catégorie A (boules de diamétre de 50 mm ) d'apres la directive
94/20/CE du Parlement Européen, Conscil Européen et aussi d'aprés le Réglement n 55 de la Comis
Economique des Nation Unies pour Europe (CEE — ONU). L'etendue de rotation du dispositif ~ fig. A

3. INSTRUCTION DU MONTAGE

Les disposilils d'altelage a boule doivent étre montés de fagon que le point d'accrochage de la remorque, avec
caisse de voiture reposant 4 Phorizontale, la charge maximum “Pmax” sur Iaxe et le chargement bien dispose, ne
dépasse pas la valeur admissible 'S (pression verticale) située sur le boitier du dispositif d'attelage, et se trouve &
430 +/~ 35 mm au-dessus du niveau sur lequel repose fe pneu ( la pression dans les pneus selons les données du
producteur) - fig. B. Les écarts & ces exigences doivent étre des . Les
dispositifs d'attelage & boule peuvent &ire montés (selon le modéle) sur les (lmon° en tube (ronde ou carrée) eten
forme de V ainsi qu'aux dispositifs de freinage.

3.1. MONTAGE SUR LE TIMON EN TUBE (RONDE OU CARREE )

Au cours de montage il faut placer le boitier du dispositif d'attelage sur le timon, e moltro on faco dos trous, le visser
avec deux boulons, les conire-cerous, les rondelles et les entreloises approprices - fig.C. Fn cas do liois trous de
serrage verticaux il faut en choisir seulement deux a savoir celui de devant el un de deux denitie
3.2. MONTAGE SUR LE TIMON EN FORME DE V

Moyen de fixation standard du dispositil d'attelage & boule du type ZSK-750K et aussi BC-BOOL sur lo imon en
forme de V en profilé du largeur jusqu'a 24 mm et de Phauteur jusqu'a 60 mm a Faide de la piceo de joint au 4 vis de
fxtion M12x35 (IS0 4017), les conlre-tcrous M12 (7040) et les rondelles au diamétre du trou 12,5 mm (150 7090)
~fi

Moyen de fixation alternatif desdits dispositifs sur le timon en forme de V en profilé du largeur jusqu'a 30 mm et de
Phauteur au-dessus de 60 mm a l'aide de la pisce de joint aux 2 vis de fixation M12x35 (ISO 4017) placés
verticalement, les contre-écrous M12 (7040) et les rondelles au diamétre du trou 12,5 mm (IS0 7090) ~ fig. E

POLSKI

1. INFORMACJA WSTEPNA
Glovice zaczepone s wykonanc zgodnic 2 W *yeznymi 94/20/EG Pala i Rady
Komisji Gt Organizacji Narodéw Zjednocmnyrh (EKG-ONZ). Maja.
one istotne znaczenie dla ety aich licznymi
testami. Jednak niezawodnose glowic zaczepowych jest zalozna rowniez od prawrdkzwcqo Inontata orar sciwej
obslugi i eksploatacii, z tego powodu prosimy Pastwa o slaranne przeczylanic niniciszej instikcii oraz o
zawartych w nicj

2. ZAKRES STOSOWANIA
Glowice zaczepowe moga by¢ stosowane lylko do przye.

2p, w ktorych nie zostaly przekroczono parametry

4. INSTRUCTION DE L'UTILISATION

Au cours des opérations d'attelage et dételage il faut veillor

o Laisser un espace libre suffisamment grand autour

peuvent étre causées par la roue de secours, le chassis ou los

Faire attention & la répartition des charges de la remorque, sans déy mn

‘Pmax’, de maniére que I'appui sur le dispositif ne dépa-: s I valeur admissible 'S' (IHL.,

le dispositif) — fig.B.

- Pour étre certain que le dispositif d'attelage soit enclench, il faut dans tous les cas vérifier la

position de la poignée ainsi que le jeu entre le disposilif 1 la boule de la téte du crochet - fig.F.

- Silyadujeu entre la boule d'attelage et le dispositif d'allelago qui peut étre signalé par exemple
par un leger martelement, la boule d'attelage ou bien I dispositil d'attelage est usé — et il faut
féchanger. Le diamatre minimal de la boule d'attelago vt 49 mm. Si le diamatre est plus petit, la
boule d'attelage est usée.

- Encasdela ou bien du

par Paccident ou par le surchargement, il faut I'Gchangor

Les dispositits d'atielage sont des o

sccurité de la circulation routiére. Il est interdit alors d'eft

dus diffic

Ia boule du crochet
nonts de fa cano

«du dispositif d'attelage & boule causé

de la

uer d'aucunes modifications

5. MODE D'EMPLOI DU DISPOSITIF D’ATTELAGE DU TYPE ZSK ET BC

< Pow décloncher e disposilil d'attelage, il faut poiss
L poignéo vors Favant - flg. G

disposolil d'attel.

pusition OPEN - fig. F

Pour lo fermor il faul poser le dispositit ouvort s la boule et pousser 1a poignéo vors

fig. Hjusquian moment oit o cliquet B* s'ouvio ves Fextérieur

Lo dispositit 031 conectement accouplé quand 1 cliquet ‘R’ s'est ouvert vors

Fine stouve dans Fespace == - fig. |

« Dans lo cas o indicatour se lrouve dans I' voul dite que le disp
mal sccouplés ou bien que les éléments du dispesitil ou de Ta boule du crochot sont

I i los changer immédiatement

or avec lindex le cliquet vers le haut of tii

1o & boule est ouvert quand I fleche de la poignée ¥ se rouve dars 1

Foxtoriom () ot
o

it st

e B - fig. F col

o

INSTRUKCJA MONTAZU, OBSLUGI | KONSERWACJI ZACZEPOW KULOWYCH TYPU ZSK 1 BC

4. INSTRUKCJA UZYTKOWANIA

Aby boezpivcznio zaczepié | odczepic przyczepe nalory

« Zwiocic uwage na wolng przestrzen wokol kull haka | mozliwe uliudienia =powodowano kol
rapasowym, rama lub elementami nadwozia

ryczope zaladowaé réwnomiemie, nie pizokiac zajiac obciazonti

nacisk na kule haka nie przekraczal warlosci dopuszczane)
raczepowe - 1ys. B.

- W celu sprawdzenia pewnosci zamocowania glowlcy zaczopowe) n: umv w kazdym przypadku

sprawdzié polozenie wskaznika i luz pomigdzy glowici a kuly haka

Jezeli pomiedzy kula haka i glowica zaczepowa wysapi luz, czegu objawem  podezas

alnago Pmax, tak by
na kopusio glowicy

wybi

dopuszczaine, wybite na obudowie glowicy z2 Glowice moga by¢ tylko z kulami .
haka holcwmczego Kasy A (sredmra 50 mm), zgodnic z Wyl 94/20/EG
nr 55 Komisji Organizacji Narodéw

Z]edncczonych (EKG ONZ) Zakresy abrote glowicy zaczepowei - 15, A

3. INSTRUKCJA MONTAZU
Glowice nalezy ¢ tak, aby punkt przyczepy przy poziomo nadwoz,
obciazeniu maksymalnym Pmax przyczepy oraz tadunku nie warlof
dopuszczalne] S (nacisk pionowy), wybitej na obudowie glowicy zaczepowej i znalazl sie 430 135 mm nad
plaszozyzna przylegania cpony do podioza (ciénienie w oponach wg danych producenta) — rys. B. Odchylki powinny
by prz przyczepy. Glowice zaczepowe moga  byc
od na dyszlach rurowych (okraglych lub kwadratowych), na dyszla
wldlowych (w ksztalcie litery V) oraz na urzadzeniach najazdowych
3.1. MONTAZ NA DYSZLU RUROWYM (OKRAGLYM LUB KWADRATOWYM):
Polozy¢ obudowe glowicy zaczepowej na dyszlu, ustawié ja odpowiednio do otwordw i przykreclc za pomaca
2 $rub, nakretek samozabezpieczajacych, podkladek i tulei yeh - rys. C. W
otworéw mosujacych nalezy wykorzystac tylko dwa olwory — przedni i jeden z otworow tylnych.
3.2. MONTAZ NA DYSZLU WIDLOWYM:
sposcb glowicy typu ZSK-750K oraz BC-800L na dyszlu widlowym

2 ksztattownikow o szerokosci do 24 mm | wysokosci do 60 mm przy uzyciu lacznika, z umieszczonymi poziomo
4 $rubami mocujacymi M12x35 (ISO 4017), nakretkami samozabezpieczajacymi M12 (ISO 7040) i podkladkami
0 $rednicy otworu 12,5 mm (ISO 7090) — .

ywny sposcb glowic na dyszlu widiowym z ksztaltownikow o szerokosci do 30 min i
wysokosci powyzej 60 mm przy uzyciu tacznika, z umieszezonymi pionowo 2 $rubami mocujacymi M12x35 (SO
4017), nakretkami samozabezpieczajacymi M12 (SO 7040) i podkiadkami o srednicy otworu 12,5 mm (ISO 7090) -
1ys. E
Nalezy

sprawdzic $rub po 1000km przebiegu przyczepy

moze byé np. stukanie, to kula haka wzglgdnie glowica zaczepowa jest zuzyta i

nalezy natychmiast wymieni¢ ja na nowa. Srednica minimalna kuli haka wynosi 49 mm. Jezeli

srednica jest mniejsza, to kula haka jest zuzyta.

W przypadku odksztalcen lub uszkodzen glowicy zacepowoj, spowodowanych wypadkiem lub

przecigzeniem, nalezy wymianic ja na nowa.

o Glowice zaczepowe sa zespolami majacymi istolne srpioczenstwa 1uehu
drogowego, wice nicdopuszczalne jost dokonywanie i nicl jakichikolwick zmian

5. INSTRUKCJA OBSLUGI GLOWICY TYPU ZSK i BC

o W celu otwarcia glowicy 7aczopowe) nalezy paleem wakazufacyimn nackinae sapadies (yaiol 1
ku gérze i pociagnad dzwignic D do przodu = 1ys. G

. G(cwlca zaczepowa jost otwarta, gy stizalka & dawign majduje sie w polozeniu OPER 1y

. w celu zamknigcia nalozy nalozyé: olwarta glowice na kulg | nacinag dzwignie 1k dolowi 1y
H, do momenty, az /..p.mk.v 1t oudskoczy na zewnalrz

o Glowica jest opiona gdy zapadia 1 odskoczyla na i
wskaznik znajduje sic w polu == —1ys. F.

W przypadku gdy wskaznik znajduje sie w polu &> rys. 1, osacsa to, p:
zamocowany nieprawidlowo, albo clementy zaczepu fub kuli haka i zufyle
natychmiast wymienic

6. KONSERWACJA

Latwosé obslugi i prawidiowe dzialanio sa zapewnione w przypadii whadciwe) Konserwaci Wiy
celu nalezy naolei¢ przeguby oraz micjsca ulozyskowania — tys. G

Dociskacz nalezy regulamie oczyszc/aé | nasmarowac.

STEELPRESS Sp. z 0.0. ul. Powstaricow Wikp. 48, PL 62-031 Lubor — Poznari,

tel. +48 61 899 43 83, fax +48 61 810 43 53,

e-mail: sale@steelpress.eu  www.steelpress.eu




